ZyTRA > ML~

=le] [ ] B= e (o] EE= =0 == — =e]
KFL/F 1-0/8 I-0/K00 IS BT A 2RI NZEL/ TR KEL | mrooR /M
(GX) (GX) (GX) (6X) (GX) (GX) (GX) (GX) (6X)
+5H R | 585 & E b i b E b E b E b i b i b E b ]
8H1H|A
8H2H | X 1| -93 -21 -4 4| -108| -89 17| -9 10 2| -28| -89 22 1| -48| -31 6
8H3H|K 1| -93 -21 -4 4| -108| -89 17| -9 10 2| -28| -89 22 1| -48| -31 6
8A4H|A 3] -105 10| -25 2 4| -116] -89 16| -9 10 3 31| -87 17 1| 59| -30 7
EEEIES 1| -105 10| 25 2 4| -116| -89 16| -9 10 3] 31 -87 17 1| 59| -30 7
8H6H|E 1| -105 10| -25 2 4| -116| -89 16| -9 10 3] 31 -87 17 1| 59| -30 7
8H7H|H
8H8H|H
8A9H|A 1[ -105 10| 25 2 4| -116| -89 16| -9 10 3 31 -87 17 1| 59| -30 7
88108 [k 1| -105 10| -25 2 4| -116] -89 16| -9 10 3 31| -87 17 1| 59| -30 7
8H11H[A& 3] -106 11| 28 4 6| -118] -89 24| 98 12 3] 31 86| 23 1| 56| -30 6
8a12H (& 1| -106 11| -28 4 6| -118] -89 24| -98 12 3] 31| 86| 23 1| 56| -30 6
8H13H|* 1| -106 11| -28 4 6| -118] -89 24|  -98 12 3| 31| -s6 23 1| -56| -30 6
8H14H([H
8H158[8
8H16H|X 1| -106 11| -28 4 6| -118] -89 24|  -98 12 3] 31| 86| 23 1| 56| -30 6
8H17H[K 1] -106 11| 28 4 6| -118] -89 24| 98 12 3] 31 86| 23 1| 56| -30 6
8H18H[* 3] -105 14| 29 3 8| -120] -89 27| -102 14 3 31 -89 27 3] 56 -29 6
8H19H[& 1[ -105 14| 29 3 8| -120] -89 27| -102 14 3] 31 -89 27 3] 56 -29 6
8H20H |+ 1| -105 14| -29 3 8| -120] -89 27| -102 14 3| -1 -89 27 3| -s6| -29 6
8H21H(H
8H22H(A
8H23H [N 1[ -105 14| 29 3 8| -120] -89 27| -102 14 3] 31 -89 27 3] 56 -29 6
88248 [k 1| -105 14| 29 3 8| -120] -89 27| -102 14 3 31 -89 27 3] 56 -29 6
8H25H A& 3 -114 15] 29 4 10| -122] -89 27| -100 15 3] -32] -100 32 3] -56] -28 6
8H26H|& 1 -114 15] 29 4 10| -122] -89 27| -100 15 3 -32[ -100 32 3] 56| -28 6
8H27H |+ 1| -114 15| -29 4 10 -122] -89 27| -100 15 3| -32] -100 32 3| -s6| -28 6
8H28H([H
8H29H|8
8H30H | 1| -114 15| -29 4 10| -122| -89 27 | -100 15 3| -32| -100 32 3| -56| -28
8H31H|K 1| -114 15| -29 4 10| -122| -89 27 | -100 15 3| -32| -100 32 3| -56| -28
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ZyTRA> ML A~

B = 3 ) = M+ie] E E= vl ST == i e
NZRIL/ KR HhFIRIL/H 1-0/FAROR KRV hFFRIL HAROR/HERIL MLV /H =RIL/NZRIL 242/ H
(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
F5H R {4588 T 8 58 8 58 8 58 8 58 8 58 8 58 8 58 8 58 8
8H1HI|A
8H2H| N 1 13 -82 -22 1 -86 7 12 -75 -13 -42 0 -24 -53 19 -15 -29 -23
8H3H|K 1 13 -82 -22 1 -86 7 12 -75 -13 -42 0 -24 -53 19 -15 -29 -23
8H4H|K 3 14 -83 0 -23 -71 7 12 -68 -29 -25 0 -31 -55 24 -20 -26 -9
8HS5H|& 1 14 -83 0 -23 -71 7 12 -68 -29 -25 0 -31 -55 24 -20 -26 -9
8H6H|1X 1 14 -83 0 -23 -71 7 12 -68 -29 -25 0 -31 -55 24 -20 -26 -9
8A7H|H
8HA8H|A
8H9H|N 1 14 -83 0 -23 -71 7 12 -68 -29 -25 0 -31 -55 24 -20 -26 -9
8H10H (K 1 14 -83 0 -23 -71 7 12 -68 -29 -25 0 -31 -55 24 -20 -26 -9
8H11H|XK 3 13 -78 0 -22 -71 9 12 -72 -22 -27 0 -26 -52 19 -19 -22 -13
8H12H|& 1 13 -78 0 -22 -71 9 12 -72 -22 -27 0 -26 -52 19 -19 -22 -13
8H13H|* 1 13 -78 0 -22 -71 9 12 -72 -22 =27 0 -26 -52 19 -19 -22 -13
8H14H|H
8H15H|A8
8H16H|X 1 13 -78 0 -22 -71 9 12 -72 -22 -27 0 -26 -52 19 -19 -22 -13
8H17H|XK 1 13 -78 0 -22 -71 9 12 -72 -22 -27 0 -26 -52 19 -19 -22 -13
8H18H|K 3 24 -79 -6 -22 -77 11 19 -73 -16 -30 0 -26 -48 17 -15 -23 -13
8H19H (& 1 24 -79 -6 -22 -77 11 19 -73 -16 -30 0 -26 -48 17 -15 -23 -13
88208 (L 1 24 -79 -6 -22 =77 11 19 -73 -16 -30 0 -26 -48 17 -15 -23 -13
8H21H|H
8H228|A
8H23H (N 1 24 -79 -6 -22 -77 11 19 -73 -16 -30 0 -26 -48 17 -15 -23 -13
8H24H K 1 24 -79 -6 -22 -77 11 19 -73 -16 -30 0 -26 -48 17 -15 -23 -13
8H25H (AKX 3 25 -80 -18 -7 -82 11 25 -75 -16 -29 1 -26 -51 18 -8 -29 -13
8H26H|& 1 25 -80 -18 -7 -82 11 25 -75 -16 -29 1 -26 -51 18 -8 -29 -13
8H27H|x 1 25 -80 -18 -7 -82 11 25 -75 -16 -29 1 -26 -51 18 -8 -29 -13
8H28H|H
8H29H|A
8H30H|X 1 25 -80 -18 -7 -82 11 25 -75 -16 -29 1 -26 -51 18 -8 -29 -13
8A31H|K 1 25| -80| -18 -7 -82 11 25| -75| -16| -29 1| -26| -51| 18 -8 -29| -13| -17
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ZyTRA> ML~

=y P ] ==+ Fe] | | < i [~ [ S =3 ] B |
KR 24X | I-0/NZRL | BROR AFRL | RML AR | IS0 570FL | 10 Z4X | RACK/NZRL | BACE/ZAR |EFL/BIIRL
(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
158 IEH |f5B8%| 5t B 5t B 5t B 5t B 5t B 5t B 5t B 5t B 5t =
8H1H|A
8A2H(AX 1 -83 38 9| -104 -8 -76 -56 17 3] -119 1 -24 2 -62 -77 29| -20 -36
8A3H|K 1 -83 38 9 -104 -8 -76 -56 17 3 -119 1 -24 2 -62 -77 29| -20 -36
8A4H|K 3 -92 12 9 -91 -8 -59 -55 20 3| -106 -6 -21 4 -67 -84 35| -26 -27
8A5H|& 1 -92 12 9 -91 -8 -59 -55 20 3 -106 -6 -21 4 -67 -84 35| -26 -27
8H6H|x 1 -92 12 9 -91 -8 -59 -55 20 3| -106 -6 =21 4 -67 -84 35| -26 =27
8A7H|H
8H8H|A
8H9H (X 1 -92 12 9 -91 -8 -59 -55 20 3 -106 -6 -21 4 -67 -84 35| -26 -27
8H10H K 1 -92 12 9 -91 -8 -59 -55 20 3| -106 -6 -21 4 -67 -84 35| -26 -27
8A11H|K 3 -96 12 9 -90 -16 -51 -62 26 5 -108 -8 -25 -7 -51 -93 37| -18 -25
8H12H|& 1 -96 12 9 -90 -16 -51 -62 26 5| -108 -8 -25 -7 -51 -93 37| -18 -25
8A13H|x 1 -96 12 9 -90 -16 -51 -62 26 5 -108 -8 -25 -7 -51 -93 37| -18 -25
8H14H|[H
8H15H(A
8A16H|N 1 -96 12 9 -90 -16 -51 -62 26 5| -108 -8 -25 -7 -51 -93 37| -18 -25
8H17H|K 1 -96 12 9 -90 -16 -51 -62 26 5 -108 -8 -25 -7 -51 -93 37| -18 -25
8H18H|K 3| -100 7 12 -93 -4 -52 -65 27 8| -109 -26 -25 -8 -49 -97 40 | -15 -25
8A19H |& 1| -100 7 12 -93 -4 -52 -65 27 8 -109 -26 -25 -8 -49 -97 40 | -15 -25
8H20H8|x 1 -100 7 12 -93 -4 -52 -65 27 8 -109 -26 -25 -8 -49 -97 40 -15 -25
8H21H(H
8H22H|H
8H23H|N 1| -100 7 12 -93 -4 -52 -65 27 8 -109 -26 -25 -8 -49 -97 40| -15 -25
8H24H|K 1| -100 7 12 -93 -4 -52 -65 27 8| -109 -26 -25 -8 -49 -97 40 | -15 -25
8H25H K 3 -99 8 13 -108 0 -56 -66 28 8 -113 -25 -24 10 -71 -103 40| -12 -25
8H26H|& 1 -99 8 13| -108 0 -56 -66 28 8| -113 -25 -24 10 -71 -103 40 | -12 -25
8A27H|x 1 -99 8 13 -108 0 -56 -66 28 8 -113 -25 -24 10 -71 -103 40| -12 -25
8H28H([H
8H29H (A
8A30H(X 1 -99 8 13| -108 0 -56 -66 28 8| -113 -25 -24 10 -71 -103 40 [ -12 -25
8H318 |k 1] -99 8| 13| -108 ol -s6| -66| 28 8| -113| -25| -24| 10| -71| -103| 4o -12| -25
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ZyTRA> ML~

+5H 2R |ft5B#%| 5T = 75 B 75 B
8H1R8|8
828 | X 1| -66 18| -18| 21| -17 3
8H3H |k 1| -66 18| -18| 21| -17 3
8H4H|A 3] -70 13 24| 17| 17 3
8H5H|& 1l 70 13 24 17| 17 3
8H6H|E 1l -70 13 24| 17| 17 3
8H78|H
8H8RH|8
8H9B|X 1l 70 13 24 17| 17 3
8A10H[K 1l -70 13 24| 17| 17 3
8H11H[& 3 -69 17 23] 12 17 4
8A12H[& 1l -69 17 23] 12 -17 4
8H138 |+ 1l -69 17| -23| -12]| 17 4
8H14H|H
8A158|8
8A16H[X 1l -69 17 23] 12 -17 4
8A17H[K 1l -69 17 23] 12 17 4
8A18H|A 3 70 18] 17| 16| 17 4
8H19H[& 1l 70 18] 17 16| -17 4
88208 |+ 1l -70 18 17| -16[ -17 4
8H21H[H
8H22H|A
8H23H[X 1l 70 18] 17 16| -17 4
8H24H [k 1l 70 18] 17| 16| 17 4
8A258 & 3 82 24| 25| -10| -16 5
8H26H (& 1| 82 24 25| -10] -16 5
8H27H |+ 1| -82 24| 25| -10| -16 5
8H28H|H
8H298 |8
88308 |X 1| -82 24| 25| -10| -16 5
8H31H |7k 1| -82 24| -25| -10| -16
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ZyTRA> LA~

1-0/M 1-0/%F BNV E e EISVEIST NZRL/FA | SRORREL | BrooR/ R
() () () () () () ) ()

5H i |f5B8%| % E 55 E 55 E 55 E 55 E 55 E 55 E 75 E 75

8H1B8(H

8H28| X 1| -894| 67| -204| -38| 38|-1052| -866| 165| -939| 97 19| -272| -869| 214| 10| -469 |-305

8838 |k 1| -904| 68| -204| -38| 38|-1054| -862| 164| -942| 97 19| -271| -868| 214| 10| -471|-303

8848 |k 3] -1055 [ 100 ] -250 19 39]-1167] -899| 161] -963| 99| 30| -313| -877| 171| 10| -592|-303

8gs58|& 1[-1048 [ 100[ -251 19 40]-1168] -895] 160] -957] 99| 30| -311| -874[ 171| 10| -588]-304

8a6R £ 1] -1064 | 101] -253 19 40]-1178] -901] 161] -965] 99| 30] -314| -880[ 172| 10 -593]-305

8R7H|(H

8H8H|H

8H9H K 1] -1064 | 101] -253 19 40]-1180] -911] 163] -966] 99| 30| -317| -886] 173| 10| -594[-308

88 10H |k 1] -1065| 101] -254 19 40]-1183] -909| 163| -966]| 100| 30| -316| -887[ 173| 10| -594[-309

8811H[A 3|-1042 [ 108] -276 | 38| 59[-1169] -889| 240] -974| 118 29| -309[ -861| 230[ 10] -557-302

8H128 (& 1]-1043| 108[ -277| 38[ 59|-1173[ -893| 241[ -973| 118 29| -311| -865| 231 [ 10| -556 [-301

88138 |+ 1| -1047| 108| -277 38 59| -1169 | -899| 242 -972| 118 29| -313| -872| 233| 10| -556| -303

8H14H|H

8815H|8

8H16H[X 1]-1045| 108[ -274| 38| 58]|-1157[ -885| 239| -964| 117[ 29| -308| -859| 229 [ 10| -551 |-298

88178 [K 1]-1052| 109] -276| 38] 59]-1166] -891| 241[ -974| 119 29| -310] -862| 230[ 10] -557-302

8H18H[A& 3] -1056 [ 140 -291 29| 80[-1207] -884| 268]-1023| 140 29| -307] -886| 268| 29| -560 [-287

8H19H|& 1] -1063 | 141] -291 29| 80[-1204] -886| 269]-1018| 139 29| -308[ -888| 269[ 29| -558-285

88208 |+ 1| -1070 [ 142| -291 29 80| -1207 | -888| 269 -1017| 139 29| -309| -882| 267 29| -557]| -285

8H21H|H

8H22H|H

88238 X 1 -1075] 143] -290| 29[ 79]-1200[ -892| 271[-1016]| 139 29| -310] -886| 268| 29| -557]-286

8H24H |k 1]-1069 | 142 -289| 29[ 79]-1197| -894| 271[-1016]| 139 29| -311| -887| 269 | 29| -557|-285

8825H A& 3[-1142 [ 149 200 40| 100]-1222] -890| 269[-1000| 149[ 29| -319[ -998| 319[ 29[ -560 | -282

8H26H|& 1]-1137| 149] -289| 39 99|-1217[ -895| 271[ -998| 149[ 30| -321[ -999| 319[ 29| -559|-284

88278 |+ 1| -1146 [ 150 -291 40| 100 -1225| -890| 269| -998| 149 29| -319| -993| 317| 29| -559| -283

8H28H|H

8H29H |8

8H308|X 1] -1156 | 151| -294| 40| 101 |-1240| -899| 272|-1003| 149| 30| -323|-1004| 321| 29| -562|-286

8H31H |k 1) -1156 | 151| -295| 40| 101 |-1243| -893| 270|-1000| 149| 29| -321|-1001| 320| 29| -560 |-284




ZyTRA> LA~

it =g — 1] = +ire] [ EE = I+I S =) il mX =]
1-0/%RL NZRIL/ KRV HFIRIL/H I1-0/3RR KRV BFHRIL HAROR /R MLVaY3 /M =RIL/NZRIL Z142/H
(124E) (=) (=) (=) (=) (124E) (=) (124E) (=)
F5H R |{d58%| 7 = 58 8 55 = 5t = 5t = 5t 8 55 =1 58 = b 8

8H1H|A

8H2H| N 1 126 -798 -214 9 -829 67 116 -730 -124 -403 0|-234 -508 182 | -145 -282 | -223 -19
8H3H|K 1 126 -800 -214 9 -836 67 116 -732 -125 -407 0[-235 -512 184 | -145 -281 | -224 -19
8H4H|K 3 140 -835 0(-232 -715 70 120 -683 -291 -250 0|-311 -553 242 | -202 -262 -89 -160
8H5H|& 1 140 -835 0(-231 -709 69 120 -684 -289 -249 0 [-309 -550 240 | -201 -261 -89 -160
8H6H|1x 1 142 -842 0|-233 -716 70 121 -690 -293 -252 0(-311 -559 244 | -203 -263 -90 -161
8A7H|H

8HA8H|A

8H9H|N 1 142 -844 01-234 -720 70 121 -691 -293 -252 0(-312 -558 244 | -205 -266 -90 -163
8H10H (K 1 142 -846 0|-234 -720 70 121 -693 -293 -253 0]-312 -560 244 | -204 -265 -91 -163
8H11H|XK 3 129 -773 0(-220 -703 88 118 -713 -215 -264 0 [-258 -512 187 | -189 -219 | -128 -179
8H12H|& 1 129 -776 01-221 -704 89 118 -715 -215 -265 0 |-258 -511 187 | -190 -220| -129 -179
8H13H|x 1 129 -774 0] -222 -707 89 118 -713 -216 -266 0| -258 -513 187 | -191 -222 -129 -180
8H14H|H

8H15H|A8

8H16H|X 1 127 -765 0(-219 -698 88 116 -706 -216 -265 0 |-255 -511 187 | -188 -218 | -128 -179
8H17H|XK 1 128 -771 01]-220 -706 89 117 -711 -217 -267 0 [-258 -516 188 | -190 -220| -129 -180
8H18H|K 3 241 -795 -59 |-219 -770 110 191 -734 -161 -301 0|-261 -482 171 | -149 -228 | -129 -180
8H19H (& 1 240 -792 -60 [-219 -773 110 191 -732 -162 -303 0 [-259 -482 171 | -149 -228 | -129 -180
8H20H|L 1 241 -794 -59 | -218 -775 111 191 -734 -163 -305 0| -259 -485 172 | -150 -229 -130 -181
8H21H|H

8H228|A

8H23H (N 1 239 -790 -59 [-219 -775 111 190 -730 -164 -307 0 [-259 -488 173 | -150 -230 | -130 -181
8H24H K 1 239 -788 -59 |-219 -777 111 189 -728 -163 -305 0 |-259 -484 171 ] -151 -230| -129 -180
8H25H (A 3 250 -801 -179 | -70 -820 110 250 -752 -160 -291 10 |-259 -510 180 -80 -290 | -129 -169
8H26H|& 1 249 -798 -179 | -70 -819 110 249 -749 -160 -289 10 [ -258 -507 179 -80 -292 | -129 -169
8H27H|x 1 251 -803 -178 -69 -818 110 251 -754 -161 -292 10 | -258 -511 180 -80 -290 -130 -169
8H28H|H

8H29H|A

8H30H|X 254 -813 -180 | -70 -827 111 254 -763 -162 -294 10 [ -260 -515 182 -80 -293 | -130 -171
8HA31H|K 1 254 -815 -180 | -70 -823 110 254 -765 -162 -294 10 |-259 -516 182 -80 -291 | -130 -170




ZyTRA> LA~

=0 EluX 2] L | =] | T ] [ T4 HE R == =] |
KRIL AR I-0/NZRL | WACK/HFSFL | REL/ZAA | 1-0/535FL 1-0/Z4% BAR/NZEL | BACE/ZAA | HEL/DFARL
) G0 G0 ) G0 G) (G () G
+5H 2R |ft5B#%| 5T = 7t = 7t = 7t = 7t = 7t = 7t = 7t = 7t =
8HA1H(A
8H2H|X 1| -798| 365 86 |-1013| -77| -743| -545| 165 28 | -1158 9| -234 19| -606| -753| 284 | -194| -350
8A3H |k 1| -807| 369 87|-1015| -78| -746| -543| 164 28 | -1161 9| -234 19| -609| -756| 285| -193| -348
8A4H|A& 3] -925] 120 90| -915] -80] -592[ -556] 202 30[-1066 [ -60[ -211 39 672 -842[ 351 -262| -273
8A5H|& 1l -919] 120 90| 915 -79| -588| -553| 201 30[-1067] -60[ -211 39 -668| -837[ 349 -261] -271
8A6H|L 1l -933] 121 91| -924] -80] -593[ -557] 203 30[-1076 [ -60[ -213 39 -673[ -844[ 352 -263[ -273
8A7H(H
8HS8H|A
8H9H|X 1] -933] 122 o1 -925] -80] -594] -563] 205 30[-1078] -61] -213 39| -674| -845[ 352 -266] -276
88108 [k 1] 934 122 o1 -928] -80] -594| -562] 204 30[-1081] -61[ -214 39 -674| -845[ 352 -265] -276
8A11H|K 3] 943 117 89 -891] -159] -s06| -619] 260 49[-1070] -78] -248] -68] -506] -924[ 367 -180] -249
8H128 |8 1| 944 117 89| -894] -159] -506| -622] 261 49 [-1074] -78] -249] -68] -506] -923] 367 -181] -250
8A13H|t 1| -948| 118 89 -891| -150| -s05| -626| 262 49| -1071| -78| -248| -68| -505| -922| 366| -182| -252
8H14H(H
8815H|8
8H16H|X 1| 946 117 88| -882| -157| -501] -616] 258 49[-1059] -77] -245] -67] -501] -914] 363 -179] -248
8H17H|K 1| -953] 118 89| -889] -159] -507[ -621] 260 49 [-1068| -78] -247] -68] -507| -924[ 367 -180]| -250
8A18H[K 3] -1005 70| 120[ -936[ -39[ -521[ -646[ 268 80[-1097] -261] -252] -80] -490] -972[ 401 -149] -248
8A19H|& 1| -1011 71| 119] 934 -39[ -519] -647[ 269 80[-1004] -260] -251] -79] -488] -968] 399 -149] -249
88208 |+ 1| -1018 71| 120 -936| -39 -518| -649| 269 80| -1097 | -261| -252| -79| -487| -966| 398| -150| -249
8H21H(H
8H22H|AH
8823H| X 1| -1023 72| 119] 931 39| -518[ -652| 271 79 [-1091 ] -260[ -250[ -79] -487] -966| 398 -150] -251
88248 [k 1] -1017 71| 119] -928[ -39[ -518[ -653[ 271 79 [-1088 [ -259 [ -249[ -79[ -487[ -966[ 398 -151] -251
8825H|& 3] -991 80| 130]-1083 o] -560] -659| 280 79 [-1132 ] -250 [ -241 99| -709]-1029] 400 -119] -249
8H26H|& 1| -987 79[ 129[-1078 o] -559| -663] 281 79 [-1127 [ -249[ -240 99| -708[-1027] 399 -120] -251
8A27H|x 1| -994 80| 130 -1085 o -559| -660| 280 79| -1135| -251| -241 98 | -707| -1027[ 399| -119| -249
8H28H(H
8A29H |8
8H30H|X 1|-1003 80| 132]-1098 0| -562| -666| 282 80 | -1148 | -254 | -244 99 | -711{-1033| 401 | -121| -252
8A31H |k 1| -1004 81| 132|-1101 0| -560| -662| 281 81|-1151| -254| -245 99| -709|-1029 | 400 | -120| -250




ZyTRA> ML~

Bifir = WX ax i+ B-Hel =le] B = =0 : =
NZFL/ZAZ | NZRIL/h7 5L BRV/H KR,/ @ 1-0,/8 1-0/KFL IS "ACE/M | ROLRND
(=) () e2) RS2 CUR) CURY) QM=) | GM=29) | @M=D)
+5H 28 |ft5B#%| 5T = 7t = 7t B b B 55 B 55 B 55 B 55 B 5% B
8H1R8|8
8H2H|X 1| -644| 175| -175| -205| -164 29| -89 7| -20 -4 4| -105| -87 16| -94 |10 2| -27
8H3H |k 1| -644| 175| -175| -205| -163 29| -90 71 -20 -4 4| -105| -86 16| -94]10 2| -27
8H4H|A 3] 706 131 242 -171| -174 31| -105 10 -25 2 4] -117] -90 16| -96[10 3] 31
8H5H|& 1] -704] 131 -241] -171] -174 31| -105 10 25 2 4| 117 -89 16| -96[10 3] 31
8H6H|E 1] -708| 131 -243| -172| -175 31| -106 10| -25 2 4] -118] -90 16| -97[10 3] 31
8H78|H
8H8RH|8
8H9H|X 1| 713 132 -244| -173[ -177 31| -106 10 25 2 4| -118] 91 16 97[10 3] 32
8A10H[K 1| -714] 133] -245] -173] -177 31| -107 10 -25 2 4| -118] 91 16 -97]10 3] 32
8A118[X 3] 691 170 -230] -120] -169] 40| -104 11| 28 4 6| -117] -89 24| 97]12 3] 31
8A12H[& 1] 694 171 -231] -121] -170] 40| -104 11 -28 4 6| -117] -89 24| 97[12 3] 31
8H138 |+ 1| -700| 172 -233| -121]| -171 40| -105 11| -28 4 6| -117] -90 24| 97| 12 3| -3
8H14H|H
8A158|8
8A16H[X 1] -689| 170[ -229| -120[ -171 40| -105 11 -27 4 6| -116| -88 24| 9612 3[ 31
8A17H[K 1] 692 170 -230] -120] -172[ 40| -105 11| 28 4 6| -117] -89 24| 97]12 3] 31
8A18H|A 3] 697 179 -169[ -159| -171 40| -106 14 -29 3 8| -121| -88 27| -102]14 3] 31
8H19H[& 1] 698 179] -169] -159] -170] 40| -106 14 29 3 8| -120] -89 27| -102]14 3] 31
88208 |+ 1| -694| 178| -168| -158| -171 40| -107 14(  -29 3 8| -121| -89 27| -102| 14 3| 31
8H21H[H
8H22H|A
8H23H[X 1] 697 179] -169] -159[ -172| 40| -108 14 29 3 8| -120[ -89 27| -102]14 3] 31
8H24H [k 1] -698| 179[ -169| -159[ -173| 41| -107 14 -29 3 8| -120] -89 27| -102]14 3] 31
8A258 & 3] 818 239 -250] -99[ -161 50 | -114 15[ 29 4 10 -122[ -89 27| -100] 15 3] 32
8H26H (& 1] -819] 240] -250] -99| -160 50| -114 15[ -29 4 10 -122] -89 27| -100[15 3] 32
8H27H |+ 1| -s1a| 238 -248| -99| -161 50| -115 15| -29 4 10| -123] -89 27| -100] 15 3| -32
8H28H|H
8H298 |8
88308 |X 1| -823| 241| -251| -100]| -162 51| -116 15| -29 4 10| -124| -90 27| -100 | 15 3| -32
8H31H |7k 1| -820| 240| -250| -100| -161 50 | -116 15| -29 4 10| -124| -89 27| -100 | 15 3| -32




ZyTRA > ML A~

BifT = o] : =le [P ] = i+l=] B = [+l
NZFL/F R R/ KR s I-0/%ML NZRIL/ L WHIRL/A | IS0/ TR | RRL AFIRL
[CNEZ)) [CNEZ)) (CNEZ)) (CNEZ)) (CNEZ)) (CNEZ)) (RN—=324) (RN—=324)
#58 A |{458%| = =] o =] 5 =] o =] 5 =] o = x| B | % =
8A18|8
8H2H| N 1 -87 21 1 -47 -31 6 13 -80 -21 1 -83 7 12| -73 -12 -40 0
8H3H|K 1 -87 21 1 -47 -30 6 13 -80 -21 1 -84 7 12| -73 -13 -41 0
8H4H| K 3 -88 17 1 -59 -30 7 14 -83 0 -23 -72 7 12| -68 -29 -25 0
8H5H|& 1 -87 17 1 -59 -30 7 14 -84 0 -23 -71 7 12| -68 -29 -25 0
8H6H|1X 1 -88 17 1 -59 -31 7 14 -84 0 -23 -72 7 12 | -69 -29 -25 0
8A7Aa |8
8AsH |8
8H9H|N 1 -89 17 1 -59 -31 7 14 -84 0 -23 -72 7 12| -69 -29 -25 0
8H10H|XK 1 -89 17 1 -59 -31 7 14 -85 0 -23 -72 7 12| -69 -29 -25 0
8H11H|AK 3 -86 23 1 -56 -30 6 13 -77 0 -22 -70 9 12| -71 -22 -26 0
8H12H|& 1 -87 23 1 -56 -30 6 13 -78 0 -22 -70 9 12| -72 -22 -26 0
8H13H|xL 1 -87 23 1 -56 -30 6 13 =77 0 -22 -71 9 12 -71 -22 =27 0
8A148|H
8H15H(A
8H16H|X 1 -86 23 1 -55 -30 6 13 -77 0 -22 -70 9 12| -71 -22 -27 0
8H17H|XK 1 -86 23 1 -56 -30 6 13 -77 0 -22 -71 9 12| -71 -22 -27 0
8H18H|XK 3 -89 27 3 -56 -29 6 24 -79 -6 -22 -77 11 19| -73 -16 -30 0
8H19H & 1 -89 27 3 -56 -29 6 24 -79 -6 -22 -77 11 19| -73 -16 -30 0
88208 (L 1 -88 27 3 -56 -28 6 24 -79 -6 -22 -78 11 19 -73 -16 -31 0
88218 |8
88228|8
8H23H|N 1 -89 27 3 -56 -29 6 24 -79 -6 -22 -78 11 19| -73 -16 -31 0
8H24H (K 1 -89 27 3 -56 -28 6 24 -79 -6 -22 -78 11 19| -73 -16 -30 0
8H25H (A 3| -100 32 3 -56 -28 6 25 -80 -18 -7 -82 11 25| -75 -16 -29 1
8H26H|& 1| -100 32 3 -56 -28 6 25 -80 -18 -7 -82 11 25| -75 -16 -29 1
8H27H|x 1 -99 32 3 -56 -28 6 25 -80 -18 -7 -82 11 25 -75 -16 -29 1
ERREIE
8H29H(A
8H30H|X 1| -100 32 3 -56 -29 6 25 -81 -18 -7 -83 11 25| -76 -16 -29
8A31H|K 1| -100 32 3| -56| -28 6 25| -81| -18 -7 -82 11 25| -76 | -16| -29




ZyTRA > ML A~

Bf7 = Elle| i N Edle] =g E&ue b o] [ | 77| e L ]| [ =l <= |
MLaU5/m | RML/NZRL A2/ KEL/ZAX | 1-0/NZBL | ®ACE/D3500 | BV 24 | 1-0/57900 | 1-0/Z242 | SACE/NZEL
QM=) | Q=) | QN=24) | QM) | @M=D) | G- | G- | QNS | GQN-SY) | RN=S)
458 e gg 5t = 7t = 7t B b B b B 75 B 75 E 75 B 5% B 55 B

8H18|8

8H28 (X 1| -51| 18| -15| -28| -22| -2| -80| 36 9| -101| -8| -74| -54] 16 3(-116 1| -23 2| 61

8H3H|K 1| -51| 18| -14| -28| -22| 2| -81| 37 9| -102| -8| -75| -54] 16 3(-116 1] -23 2| -61

8A4H|A 3] 55| 24| 20| 26| -9 -16[ -93[ 12 o 91| -8[ -59] -56] 20 3[-107] 6] -21 4] -67

8A5H|& 1] 55| 24 20 26 9] -16] 92| 12 o 92 8] 59 -55[ 20 3[-107] 6] -21 4] -67

8H6H|E 1] 56| 24| -20] -26] -9 -16] -93| 12 9] 92| 8| -59] -56] 20 3[-108] -6[ -21 4| -67

8878|H

8H8H|H

8H9H| X 1] s6| 24 20 27 ol -16] -93| 12 o 93] 8] 59 -56[ 20 3[-108] -6 -21 4| -67

88108 [k 1] 56| 24 20 27 9] -16] 93] 12 9| 93] -8 -59[ -56] 20 3[-108] 6] -21 4] -67

8H11H[A& 3] 51| 19 -1o 22 -13[ 18| 94| 12 o 89| -16] 51| -62[ 26 5[-107] -8[-25] -7[ -51

8H12H(& 1] 51| 19| 19| 22 -13] -18] 94| 12 o 89| -16] 51| -62] 26 5[-107] -8 -25] 7] -51

8H13H|* 1| 51| 19| -19| -22f -13| -8 -95[ 12 9| -89 -16| -51| -63[ 26 5| -107 8| -25 7| -s1

8H14H|H

8H158[8

8H16H|X 1] 51| 19| 19| 22| -13] -18] 95| 12 o 88| -16] -50| -62] 26 5[-106 8] -25] -7| -s0

8H17H[K 1] 52| 19 -19[ 22 -13] -18] 95| 12 o 89| -16] 51| -62[ 26 5[-107] -8[-25] -7[ -51

8H18H[* 3] 48] 17| 15| 23] -13| -18] -101 7 12| 94| 4| 52| -65] 27 8[-110| 26| -25| -8[ -49

8H19H[& 1] 48] 17 -15[ 23] -13] -18] -101 7] 12 93] 4] 52| -65] 27 8[-109] -26[ -25] 8] -49

88208 |+ 1| -a8| 17| -15| -23| -13| -18| -102 7| 12| -4 4| -52| -65| 27 8|-110 -26| -25 8| -49

8H21H[H

8H22H|H

8H23H [N 1] 49| 17| 15[ -23[ -13] -18] -102 7] 12 93] 4| 52| -65] 27 g8[-109] -26[ -25] 8| -49

88248 [k 1] 48| 17| 15| -23[ -13] -18[ -102 7 12| 93] 4| 52| -65] 27 8[-109| 26| -25| -8[ -49

8H25H A 3] 51| 18] -8 29[ -13[ -17[ -99 8| 13] -108 o] 56| -66][ 28 8113 -25[ 24 10| -71

8H26H (& 1 51| 18] 8| 29[ -13| -17[ -99 8| 13| -108 0| -56| -66] 28 8-113] -25[ 24| 10| -71

8H27H |+ 1| 51| 18| -8 -29f -13[ -17| -99 g| 13| -109 ol 56| -66] 28 g|-113| -25| -24| 10| -7

8H28H|H

8H29H|8

8H30H| X 52| 18| -8| -29| -13| -17]| -100 8| 13| -110 o| -56| -67] 28 8|-115| -25| -24| 10| -71

8H31H |k 1| 52| 18| -8| -29| -13| -17| -100 8| 13| -110 0| -56| -66] 28 8|-115| -25| -24| 10| -71




ZyTRA> LA~ XAREI-AF10GFBEHRD. AN - 1-A31HBEHILDOEEETY.

Hfi= 2= T | =] | E-Hel
BAOR/ZAX | RNL/ATOML | NZFL/ZAZ | NZNL/ A3 5FL EINYZ=!
CIIE)) RM=2) RM=24) M=) RM=2)
158 iEQ |ft5B#%| 5T = 7t = 7t = 7t = 7t =
8H1H|A
8H2H|X il -75 28| -19] -35| 64 18| -18| 21| -16 3
8H3H|K 1l -76 28 19 35| 64 17| 17| 20| -16 3
REEEIES 3] -84 35 26| -27] -71 13 24| -17] -17 3
8A5H[& 1l -84 35] 26| -27] -70 13] 24| 17| -17 3
8A6H|t 1| -84 35 26| 27 71 13| 24| -17] -18 3
887H(B
8H8H|A
8H9H[X 1l -84 35 27| 28] 71 13] 24| -17] -18 3
8A10H K 1l -85 35 27| -28] -71 13| 24 -17] -18 3
8A11H[& 3 92 37] -18] -25] 69 17 23] 12 -17 4
8A12H|& 1l -2 37| -18] 25| -69 17| 23] -12] -17 4
88138 (% 1l -9 37| 18] -25] -70 17| 23| -2 a1z 4
8H14H(H
8A15H(8
8A16H ([N 1 a1 36| -18] 25| -69 17| 23] -12] -17 4
8A178 K 1l 92 37] -18] -25] 69 17| 23] 12 -17 4
8A18H[K 3| -97 40 -i5[ 25 -70 18] -17] -16] -17 4
8A19H[& 1l 97 40| -15] 25 70 18] -17] -16] -17 4
8H20H |+ 1| o7 a0 15| 25| -69 18] 17| -16|  -17 4
FEBEIE
8H22H|8
88238 (X 1l 97 40| -15] 25 70 18] -17] 16| -17 4
8A24H K 1l 97 40 -i5] 25 -70 18] -17] -16] -17 4
8825H & 3| -103 40 -12] 25 -82 24| 25| -10] -16 5
8A26H|& 1| -103 40 -12] 25 82 24| 25| -10]| -16 5
8H278 |+ 1| -103 a0 -12] 25 81 24 25| -10] -16 5
8H28H(H
8H29H |8
8A30H | 1| -103 a0| 12| 25| 82 24 25| -10| -16
8A318 |k 1| -103 a0 12| 25| 82 24 25| -10| -1




